O Gl ®.
J27<g’)’_ﬁ Seackion in enthy bituolien

Q o4}
W-o(w @No time U.Q‘P’.m& (J»WY} Yound dwm)
7 @ Knowlo.djy, cheuek (ﬁ.}% al,(w,)



|. A shopkeeper allows 20 percent discount

on the marked price of an article and he
M P: q5 = ﬁ +3 suffers a loss of 5 percent. If the article is
P g0 (6 sold at marked price, then what will be the
BGD- [ 3 £ profit percentage?
. (gD UF GHEGR TH a&] & ifhd HAed
( e o b
PIL) = : I | Ife T g
/>"~3f Q\Au)me@“S)mf I Hed W AT Sar ¥, ar e
gfaerd F4T gNN?
a) 8.33 percent b) 16.25 percent
A;:Z -ﬁ 3 %18. 75 percent d) 17.25 percent
[
“ W~
D




2. The value of 25% of 720 + 57 + 19 x ;of == of == — 15% of 300 is:

25% of 720 + 57 ~ 19 x gofﬂofﬁ — 15% of 300 T AT &

11
a) 191 b) 157

c) 127 41147
180+ 12 - 45

192

-4¢

147
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2,. A solid right-circular cylinder, whose

3 2
| x2xaunx h

ya B R 3

| _ i
8"’ |2.-5 /.

\GD,(l = 8.8,

s ° )

radius of the base is 15 cm and
height is 12 cm, is melted and
moulded into the solid right-circular
cone, whose radius of the base is
24 cm. What will be the height of
this cone?

TF B dFe g ded, e

uR #r Ber 15 A 3k

FaE 12 A & F Ryt

3 aF g AF H grem S

Y e R A B 24

g%lwamaﬁrmm
?

H#14.0625 cm  b) 14.0675 cm

c)14.6025cm d)14.0525cm

[ 4







Y. If the circumference of a circle is equal to
the perimeter of a square, and the radius
of the given circle is positive, then which
of the following options is correct?

Ife wF ga i oRfY, & at F
TR F W § 3k Re aw Gl
A AT vacHF §, O AR
A 7 Fla-ar [eea @ aon?

Area of the circle > Area of the square
b) Area of the circle > Area of the square
c) Area of the circle < Area of the square
d) Area of the circle = Area of the square
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5. What is the equivalent single

discount of two successive

discounts of 12% and 10%?

12% 3R 10% AN q HAF

ga‘f F WAJed Thd TT FAT
?

a) 18 percent b) 20 percent

c) 18.5 percent 20. 8 percent
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6. Two pipes X and Y can fill a

8

cistern in 24 min. and 32 min.
respectively. If both the pipes
are opened together, then
after how much time Y should
be closed so that the tank is
full in 18 minutes ?

X 3 v & gz wH T Hr
FAM: 24 fAae 3k 32
fAse & X aFa &1 ¥ Q=r
UsY TS WA o &, al
st @AY 95 Y # a5
T gifge, owd & <
18 fAsle H X ATT?

a) 6 min. gﬁ 8 min.

c) 10 min. d) 12 min.

[ 8




1.-1-? = -Z
x,z—u-?z«,-zug = ’Z.?'

xﬁ-y L 2% -2y

\ | + )
-ZJ(ar -Zgz -22Z29%

1| X+Y+z
[

7\‘62_

7 f x+y+2z=0, then what is the

| f 1 1
value 0 X2 4+y2—72 | y2ig2_y2
1 5 -
z2+x2—-y2"’
x+y+z=0 g,
1 1 1

)

X2 +y2—72 | y24z2_x2 | Z24x2_y2
AT T 87
1
2l x2+y?+z2 b) 1
c)—1 Afg

Naduw Pu\‘th'ng_
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3. The length of the tangent to a
circle from a point P is 15 cm.
Point P is 17 cm away from
the centre. What is the radius
of the circle?




4. If 36 persons can finish 50%

M, DI H’_ MZ. DZ Ha2_ of work in 12 days. In how

N\ W?. many days 72 person can
finish the complete work?

Ife 36 AfFT 50% FIT H
12 feaY F AT T GFhd

26x12  32xD %Fﬂ72€gﬁ;§rwwzias’r
h fhaa feat & AT W
a)6 b) 3

c)9 12




o, If x2 +— = 38, then what
x22 ==
is the value of x — 2= 6
Ay x?+=38 ¥ @
x— & AT FE ?

6 b) 7

c)8 d) 10
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(l. Two trains of equal length pass a
pole, running in opposite direction in
15 and 21 seconds respectively. The
trains will cross each other in

AT oaE Y & &7 Rada R
#F I U UH @R F FA: 15
it 21 FFE # U FA F
TH qEY HI H IR HLN

a) 14.8 seconds b) 13.4 seconds

c) 6 seconds J/ll 5 seconds

=h.s




40°

110°

uo

70

(JTAN.
fo

|2- In the given figure, ABCD is

the cyclic quadrilateral, If AD
and BC extended then it cut at
a point E. If ZABC =
40° 2BCD = 110° then what
is the value of ZAEB?

ad W Iefa #
ABCD W aqie §, IR
AD 3R BC #Y dem ar
7 g F W Fed &
Ife 2ABC = 40° 2.BCD
110° & @ 2AEB &1 A
FT 87

a) 65° b) 75°

@[ 70° d) 80°

| | 15



I>. If the diameter of a sphere is
doubled, how does its surface
«[fved F1 AW
@D) M <X gNIEAT Y AT I ar 3a%
TSI e H  fhaa
(D) A Yx aRade @ 37
By a) It increases two times.
| b[ Q)o’ﬁt increases three times.
c) It increases four times.
d) It increases eight times.




Sl

Y. AABC is a right angled
triangle. 24 =90 degree,
AB=4cm, BC=5cm
What is the value of cos B +
cotC?

A ABC TF FHSIOT XSt B
¢ = 90 33, AB = 4 9,
BC = 5 UH %I cos B +
cot C FT AT FIT &7
a)17/20 b) 29/20

c) 23/20 JSl/ZO
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15. If tanB + cot6 =8, then

what is the value of tan?60 +
cot?0?

gfe tand + cotd = 8 %,
dd tan?60 + cot?0 T AT
g7

a) 36 b) 64

c) 16 /62




16. Raju, Sunil and Vishal can separately

finish a work in 20, 30 and 40 days,
'o‘)]fza?xzrespectively. In how many days Raju
(1Y can finish the work, if he is assisted by

g 6

Sunil and Vishal on alternate days,
S 4 éo\ ,_._6. starting with Sunil?
v 3 s ® TS, gt 3R Faemer rerer-arerr

9

| | 19
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\7. The marks obtained by 25 students

in a test are given below:

54, 68, 42, 71, 56, 62, 71, 78, 51, 72,
53, 44, 58, 47, 64, 41, 57, 89, 53, 84,
57, 45, 48, 52, 62

How many students obtained marks
between 55 and 75?

fret axe #, 25 Rgmidat qarr
yredis R R o §

54, 68, 42, 71, 56, 62, 71, 78, 51, 72,
53, 44, 58, 47, 64, 41, 57, 89, 53, 84,
57,45, 48, 52, 62

fraer Rgfdat & ureaiw 55 3R
75 & & & §?

a)10 11

c)12 d) 13

| | 20




1
@ B. If 2x—\/5+ﬁ,a>0, then
x2-1

a.r—é‘l ?'l’-/t’ the value ofx_ S5 Is
A= 2+4/.S afe 2x=\/5+\/_i,3|ﬁ a>
2 2 0 \/2—1‘1’
——=90 0 & & X2— &1 A
l-_-_§ J x—/x2-1
Y 25| =F,_§ AT Hifra?
‘ 6 ™ M) a+1 )2 (a+1)
3y SHi@-1  da-1
My | >3 V.
7 > \1..% ﬁlML'PVd

————
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|A. If the ratio of an external angle
and an internal angle of a
regular polygon is 1:5, then
what is the number of sides in
the polygon?

zrﬁmhwa—gama7w
=25 180 9EG For IR T aRe

FIOT FHT I 1:5 3, a9

LR A 81'5IT31T f &I

Fid ATl

a) 24 b) 22

\/12 d) 30




Sales books (in thousands)

W 2018

Branch A

Branch

2019 £2020

Branch B

Branch C

20.The following bar graph shows the sales of

books (in thousands) from 3 branches of a
company in three consecutive years 2018,
2019 and 2020. What is the ratio of the
total sales of branch A for the year 2018
to the total sales of branch C for the year
2020?

famfaf@a sk % FemarR e ast
2018,2019 3i\X 2020 #F wF Hysr H
3 @3t F gEAH A fashr (g9RT H)
gatar g

a¥ 2018 & faT em@r A &1 Fd fah
aur av 2020 a:ﬁlvanmca?rﬁr
fashr &7 3reTarer Rrae 87

a)J1:1 b)5:1

c)4:3 dl : 5

| | 24




G /

57

l 2.

3_"'%‘2’*‘1
2 _ |
L 6
6

'2/0(‘»‘%_ |2_6

4*'*5 s

1
2\. What is the value of 32
4

3 13
LRk

A1 1
4 "2 2 °

1 3 1 3 1.1
e D et
2 4 4 4 2 4
511 13,1 HT A FAT 87
4 4 2 2 4 4

_A1126/5 b) 116/5
c)49/8 d) 89/6

25



22 A die is thrown twice. Then
the probability that in atleast

T one of the two throws 4
7 » comes up is ’
X TN A QA aR FF A
5,5.3s v o/ # X FA T FA UF AR 4
6 Y6 S5, S——x gred @ fT 9ifReedr
i ] gl
11 10
I-25_ ) 30 P)3e
3K 36 )3 d) 3¢

] %
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2%. In the figure AB || DE, angle
BAD = 20° and angle DAE =
30°, and DE = EC. Then
LECD =?

HfT AB | DE &, T
BAD = 20° 3R  @ior
DAE = 30°, 3k DE = EC®I

aq LECD =?
a) 60° M 65°
c) 70° d) 75°




. . 12
2. If the area of the circle is 5 of
the area of its sector, then x =




25.The ratio of the angles 24 and
4B of a non square rhombus
ABCD IS 3 : 2. Find the value
of 2D
TH mﬁl?rahr ABCD it &#Y
Tt 7€ &% #or 24 3R
£B T 39T 3: 2% «D
FT AT AT DT |
a) 82° b) 95°

c) 102° /72°




26.In APQR, 2P = 70° QE and RF

are perpendiculars on PR and PQ

at E and F, respectively. QF and

RF intersect at H. The bisectors of

2ZHQR and £HRQ intersect at G.
ZQGR is equal to:

APQR #, P = 70°, QF 3R

RF AT PR 3R PQW E 3R

F9X d«dd &1 QE3R RF, HR

R vfaede #@ & <«HQR 3R

tHRQ & WHGEANS® ¢ W

yfa=de #d &1 2QGR W=

fras &2
a) 120° b) 130°
of145° d) 160°

| | 31
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102 104
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I 78 66 I
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250128~ 218
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27. The bar graph given below shows the

<>

96
54

Q

number of players participating in two
games in five different schools
L,M,N,P and Q.
Total number of players participating in
game D from all schools is what percentage
of the total number of players participating
in game E from all schools?
A QAT T I IE 9IT -3
el LM,N,P 3R Q &7 ar Qe 7 amr
ot arer et #r wEar gatar ¥
st Tl F WA D H HET A el
RafRal i Fa gear, @it T @
QIE & 80T A g RafRd i Fer
&1 fraar gfaea 2

71. 3 percent b) 142.56 percent

c) 99.68 percent d) 132.78 percegizt




p2The table given below shows the production of
bike and truck by five companies.
€s Bike " | Truck A1 = The difference between the total production

Compani Production

of bikes and trucks by all the 5 companies.

~700 500 A2 = The average production of bike by company

450 300 D,F and H.

What is the value of (AZ/A1)7

D
E
F =200 290 A & 1§ aifosr & 9 FUAE @R aBF
G 250 | 600 ﬁtw?maﬁmﬁmﬂm%l

H -300 650 HﬁSmmmﬁT?ﬁ?ﬂT
>0 mm%aﬁamml ’
Al=¢o Zg@ 2 = &9t D,F IR H @rr s &1 3itaa
' 3cUTEST|
A2 = Q5 (A2/ A1) ST AT F4T &2
a) 50 10
c)5 d1

| | 33



/ 27 33
fg;. OSSR
'btm$7 (4o 34 Sl'l,)

29. (tan37° + cot37°)/(tan33° + cot53°) =?
a) sin53° + c0s33° oS 7 _
tan53° X tan57° -
c) sin53° X sin57°
d) cos57 X cos53°

iams]z Cet 23

_ *om‘57+ta~;63

tﬂ*ﬂ%? Jcmss

I—l 34



l62-6 30.The heights of a group of 6 people are
150 cm, 155 cm, 160 cm, 165 cm, 170 cm,
T and 175 cm. Find the standard deviation of
LS, LS, E, Si/"zg./ ‘22 their heights.
22 = 6 waFadl & g N FAE 150 [,
- RV ;1‘?15 a+, 160%@'331 165 ¥, 170 F#F
U5, 2185, 15, WS, 225 175 ¥ 1 3 FAEAT FT AWF
VRl el vl I G Y gt
/J 1. 4 “ ‘4' Y 1 878 J#8.53
& =2 %,Lqﬁz 96 ) 9.12
= [ Bixz  _(7z42 b0 g MD
s Vs \Vm —
Uy g > Dz j\/
g 3 Coy

| | 35
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